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1. Glwen the following hatlonal-ingemna model:

Yo+ I+ G,
cC=a+ b{¥ - T} {a=0, Q<b<l;} [T: Faxes]
T =d + £¥ (d>0, 0<t<1} [£: ingome tax rate]

where ¥ if natlonal income, € is congumptlion, f, 1s tovestment
expenditure, 6, is government gxpendlture, and T 1s taxzas, T 15

inenme taxy rate.

¢a) Find the equillbriem national 1ncuma*{Y¥}, oguillbrivm tax
(T*1, and eguiliprium censumptlon (&0, racpectivaly. (9% )
tky Find tha gavernment—axpenditura mileiplier, nonincome-tax
mektiplier, and lncoms-tax rate multiplier, respectivaly. (957 %
{c} Im the sbowve throe multipliers, which ona ia the biggoetk?
whiah one 1a the amallest. {25 )

2. copsider the following optimal allocation of time model: {hy the
1942 Helel Boonomic Prize wlpner, Gary BoeckaT)
Aszume your utillty is derived from the consumptlon progwss rathar
than from the good itsatlf so that youl utility funcrion 1s

UiR, . &) =dinga,) +ilndag),

whare A; are the set of aceivities in which you consume the ot of
goods Gp. Tha ith. activity cegqulras & /0y units of = good and t; fhy
hours of time, respectively, psr one unit of accivity 1. Assums
that Bherw are only two activities and

nymi, m,=6, h =2, and h,=E.4

Ageume you are & working paremt Eacing borh time and financial
ropstraints. Thae total tima availabla to you is

T = W+ &, £,= 24

whers W repressnts work, t, iE the time you spand caving for your
childyen and household, and t, is the time you have ewclusively for
yourgalf. Your flpancial conseraint reflecta tha assumption that
vour total income, wW, lg spent oL elther goad @ or good 2 az given
by

W= PG+ EG,

whare P =3, B, =2, aad w=5. Combining the tima and finanelal
cunstraints into a conswlidated conztraint that define= the money-
valune of total tima and rewriting the constraint in terma of
activities rathar than gooda, we have

wl = P, n &t E‘Ln,_hl+ th A‘ + Wh:h-i.

ta} Caleulate how much time you would spend &t work, caring for
your household, and purswing your own lelisure activities glven

your time constraint. {85r )
b} ??éﬁ? for G, and G, to determine haw your total lncome te spont.

() BuppoeEe that a mew, high-powered vacuum cleanar that dramaticall
].re_dueg EhePamEEnt .::-i titae you spent cleaning your house was d
invanted. Prodict the impact of this techhological change
relative awount of activity A . (35 i 48 on the

)
- (MBXxRE Fl




Grany Ausoid® TIEIET Gl s ny /SR

BEIB AW 1y $5@ LPuED 3R

(d) Suppose that, in yeur limited free tims, you decide to get in
shaps. after wonthe of going to gym, Yoo £an Dow ruf 5§ milex 1n
the =ame amount time that it used to take you £o run 3 miles (8
decrease in B, ). Predict the impact of this change oh the raiative

amoupt of astivity A . 3% )

(e} Suppose your Mansger gave you & sigo
ngfct an consumptlon of A, and A, given that,
(3% )

tfirant ralse. What iz the
lnitially hlﬂhz?

3. what ars the differences in economic thought betwaen Clasglical
school and Keynezian School? Fleaze discuz= how thesa differences

intluence govarnment economic polieies? {109}




